Practice Paper
Subject : Accountancy
Class-XI

Time :3Hours Maximum Marks : 90

99 : 3 g ITfhH 3T : 90

General Instructions :

(i)
(ii)

This question paper consists of two parts : A and B. Both are
compulsory. Total number of questions is 24.

Attempt all parts of a particular question at one place.

= foder:

(@)

(@)

IE YT UF Q1 AW H fa9ead 2 | o1 @ ‘9 | [ AT Sifvand € | |
U3 24 2 |
BT vee & 9 9T & SR U B ¥qTH OR fo1fRau |

Part ‘A’ (Financial Accounting - 1)

A7 ‘3 (fa<ha d@i®a - 1)

Name any two internal users of accounting information. 1
SIETH AR & el ]l RS YARTHIRI & 19 gaTsy |
Write any one limitation of accounting. 1

oIRGBl Pl T YT 9dT8U |

Name the reserve that can be used in distribution of dividend.

I g T A foIRay fSeT WAt emwier faaor 8 fhar S
JHT T | 1

An old machinery was sold to Manish for ¥56,000. name the
book in which this entry will be recorded. 1

Y BT geb YRI- AR 356,000 H 941 TS, 39 Y& Bl A4
TRIT ST s gfafte a1 e |

Show an accounting equation on the basis of the following
transactions: 3



(i) Started business with cash 80,000 and goodsX70,000.
(i) Withdrew cash for personal use ¥20,000.

(i)  Bought furniture for 15,000 on credit and paid salaries
33,000.

frfoRad o9—<H & MR W TP gidh- THIHRI JIR
BIFTY |

()  ¥80,0009%< Ud 70,000 & AT A FIATT ARH b |
(i)  IfdATd SYART & fov 320,000 fHaTet |

@iy  Z15,000 BT HHER SYR WRIET 3R da9 & 23,000 2T |

What is meant by Accrual Basis of Accounting? Give any two
advantages of Accrual basis of Accounting. 1+2=3

STETh & YIS MR BT T 37ef 87 IUTSIH MR & sl a
STl BT g1y |

Journalise the following transactions in the books of Saurabh: 3
(i) Paid¥ 12,000 for rent.

(i) Received ¥15,000 from insurance company against a
claim¥20,000 for loss by fire.

(iii)  Paidforinstallation of machinery317,000.

ARY 1 gl H FEferRad ord—aHl &l o gfafsedt
PIFSTY —
() 12,000 fohxmar 1 Yrer fba |

(i) T A IHAM H G 320,000 6 b I1T @ = H
ST BT 215,000 9T U |

(iil) TN DY AT B FEE H T17,000 20 |

State whether the following accounts will indicate a debit or

credit balance: 3
()  Drawing (i)  Advance Rent Received

(i) BadDebts (iv) SalesReturn

(v)  Furniture (vi) BankOverdraft

o= a7al @ IR § 9dTSU fb $7bT Y, TH Y ST AT 74T oY —
()  3mexor (i) 3rfiH T urftq



(i) TeMET T (iv) faspar ara=i

(V) AR (vi) & erfefaemy
State the following: 4
(i)  Depreciation (i) Revenue
(i) Trade Discount (iv) CurrentAssets
fFr=IfeRaT ! T BIfog—
(i) =M™ (iii) *MmTH
(i) RS Be (iii) =re] FHFURTT
From the following information, prepare Bank Reconciliation
Statement as on 31stMarch, 2016: 4
3

(h Bank overdraft as per Cash Book 1,70,000
(ii) Directly deposited to the bank by

Sudhir (customer) 12,000

(i)  Chequesissued but not presented by payment 83,000

(iv)  Chequesenteredin Cash book but notbanked 42,000

f=feRad ST & JMYUR UR 31 ATd, 2016 TR §db THEE
IR TR BT —

3
i)  RUPS B D ATAR I AfAfIHY 1,70,000
iy IR (ITEd) ERT dd H AT ST 12,000

iy AT = S TaE @ forg TR 718 g 83,000
iv) ¥ DS g8l 7 foRd 7Y IR I TEI Hol 42,000
Explain any three of the following : 6
(i) Full Disclosure Principle

(ii) Money Measurement Principle

(i)  Materiality Principle

(iv)  Accounting Period Principle.

fFe=rfeRad # 9 f=gl ofiF wee HIfoiy —

(a) Yo UbCIHROT A
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13.

@)  garaa Rygid

(&) Ao g

(@) orEEy Riga

Rectify the following errors : 6

(i) Soldold furniture to Afor ¥ 11,500 was passed through the
Sales Book.

(i) Credit purchases of I 12,000 from Ojas omitted to be
recorded in the books.

(iii) Repairmade were debited to Building Account ¥ 7,000.
(iv) Creditsale of%1,800to Avikan was recorded asX8,100.

(v) 6,000 paid for office furniture was debited to office
expense account.

(vi) A credit sale of goods of ¥15,000 to Ramesh has been
wrongly passed through the Purchases Book.

fFerfeTRaa arggfgal 9 garR Hifsg —

(i) A BTZ11,500 F 9T T YRMET BAreR [Ahd g8t H forar
T |

(i) 12,000 & 3T A SUR 3 YD H 712} fordl T8 |

(i) 7,000 P! AT DI Had @1d H Sfde fdvar 77|

(

(

iv) 3TfddT= $1T1,800 oI fdshd T8,100 forar 73 |

V) B BriaR @ fov f3U 77 26,000 BT HrATerd Y @M
H forar T |

(vi) Z15,000 B SUR fIhd HY DI DI Tg W HI J&Ib H
foredy 778 |

A firm purchased on January 1,2015 a machinery for ¥1,70,000
and spent 30,000 on its installation. On June 30, 2016, another
machinery costing ¥2,00,000 was purchased. On October 31,
2016 machinery bought on January 1, 2015 was sold off for ¥
1,50,000 and a new machinery for ¥3,00,000 purchased on the
same date. Depreciation is provided annually on 31st December
@ 10% p.a. on written down value method. Show machinery
accountof2015and 2016. 6

TdH HH - TP AR 1 SIa, 2015 T 1,70,000 H TRIET 3R
230,000 IH®! WIYAT H @ fdBd | 30 A, 2016 BT Y A




14.

#efF¥T 22,00,000 # @RI T8 | 31 AR, 2016 BT Ygell AR
ST 1 STaRT, 2015 H @RI e, ¥1,50,000 ¥ 99 faam 1 ik S
fa=ies @1 v 718 AT 3,00,000 ¥ @RI T8 | B Bl d1fiss
&R 10% ©cd 8Y Y fAfd gRT o718 AT 2 | 2015 Td 2016 B
ENIENECINIERIRI

(i) Distinguish between a Bill of Exchange and a Promissory
Note, on the following basis : 4+4=8
(a) Drawer (b)  Acceptance
(c) Parties (d) Order and Promise

(i) Write note on the following :

(@) Dishonour of the bill

(b) Endorsement of the Bill

OR

On April 15, 2016, Neeraj sold goods for ¥ 70,000 to Parmesh
and draw upon later a bill for the same amount payable after 3
months. The bill was accepted by Parmesh. Neeraj discounted
the bill from bank for ¥ 67,000 on 30th April, 2016. On maturity,
the bill was dishonoured. Parmesh agreed to pay I 30,000 in
cash including ¥ 2,000 interest and accepted a new bill for 3
months. The new bill was endorsed to Rajesh in full settlement of
his accountX 45,000. It was duly met on maturity.

Give the Journal entries in the books of Neeraj.
() fafrra faa vd ufasm o= AefaRaa MRl o sidvg

BT —

(@) oED (@) g

(M uer (M) e e i
iy IR Are forlay —

(@) fdcT &1 3R

@) f9ad &1 ==

3reqdT

15 378, 2016 BT 7RSI = URHIT Bl T 70,000 BT ATl {qsha fohar
TAT I R A He I+ 1€ <, faus qa= i1 & forg foram | o=aer
T fdet SR faear 4T | 30 31, 2016 &I I8 fdel T 67,000 TR
d I AT AT | URYedT i wR I {4 1 8l T | 919
TRHTT 330,000 FAPHE T2,000 ToT Aled €T TAT Y R & fory 3
qeH & fory a7 et Wiea far | 71 f9d -IRST =1 319 oFeR




15.

16.

17.

18.

19.

TSN BT 2T 45,000 B FHeT d9T B a1 | uRudear fafer o
ORHET 1 et T YT e 3T |

RS Bl GXIhi H STeiel gfafeedl BIfo |
Part ‘B’ : (Financial Accounting)

i @ (facfa dwEie)

On what basis Income and Expenditure A/cis prepared? 1
3~ FTAT fhd MR TR TR 3T ST 87

Write any one advantage of Tailor-made software. 1
TR—AE (Pl & gRT TIR) ATRR &7 BIg Yo o forlRag |

Write any three limitations of Readymade software. 3
ga— T AiveaaR #I Big dIF AN TRy |

Calculate cost of goods sold from the following : 3
Opening Stock < 40,000 Wages & Salaries I 10,000
Net Purchases < 50,000 Rent Paid < 15,000
Net Sales 3 1,90,000 Closing Stock < 15,000

f=ferRad <1 fasha fhd T ATl &Y AIRTa ST HIfoTT —

R Bl % 40,000 AT g dad % 10,000
TG B ¥50,000  faarmarfeRm@r - 15,000
NEAEED) %1,90,000  37f<TH IEfaam % 15,000
Ravi, who keeps his books on Single Entry System, had his
capital on 31st March, 2016 X 20,000 and on 1st April, 2015 was
%16,700. He further informs that during the year, he withdrew for
his personal expenses ¥9,400. He also sold his personal

investment of 10,000 at 15% premium and brought that money
into the business.

Prepare a statement of Profit or Loss. 4
Tehel UfdfSe YoTTell & SIFAR U1 Y Y@ dTel Ifd BT Yoil 31
AT, 2016 DI 20,000 TAT 1 MU, 2015 BT T16,700 &Y | ATA &
SR, afddTd @at & forg, SH9 9,400 3MEROT fhd | 19T &Y,
U it fHrdeT, fS=TepT o 210,000 oI, BT 15% ST H =
3R TS JTF3T Bl FTATT H ST |

ATH—8T fJaRor 99130 |
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21.

Explain the accounting treatment of these items of ‘Not-for profit
organisation’: 4
(i) Legacy (i) Entrance Fees

IR—AHRI TSl DI 9 A BT Ih FTER T DHIfoTI—
iy TAFIIHITRR (i) T Yob

SAVERA Club decided to impart Marshal training and safety tips
to all girls and women of the city to protect them against rising
crime and empowering them to protect themselves in dangerous

situations. Following is the information relating to subscriptions
forthe year ended 31st March, 2016 of the Club :

Subscriptions received during 2015-16 70,000
Subscription outstanding on 31st March, 2015 317,000
Subscriptions received in Advance on 31st March, 2015 33,250
Subscriptions received in Advance on 31st March, 2016 34,670
Subscriptions outstanding on 31st March, 2016 Z11,250
(i) Identify the values highlighted above.

(ii) How will you show the subscription in Income and Expenditure
A/cforthe year ended on 31st March, 20167 1+3=4

R Fefd - AT Tsfhdl T Afgerall or Ariel Sf+iT T gRel
e @& aR # 9™ vd uRiferd e &1 ol forar aifes erex
ged SR H I7o GRIE @ Sl Hh a2 fdde uRRerfaai
I8 WeTH IR Sl 9 | 9 Fold @ 31 A9, 2016 DI FATK B
arel o # e AR fe e € s 2

2015—16 & AT YT AT ¥70,000
31 919, 2015 DT YT AT Z17,000
31 1T, 2015 BT 3TRH AMAEH 3,250
31 {Td, 2016 BT 3TH 3ffaT™ 34,670
31 {Td, 2016 BT YT A Z11,250

()  SURIEGT H ST el BI g1y |
(i) ST T I G H 31 AT, 2016 Bl THG 99 H 1™ DA
SGT?
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23.

(i) Write the name of any two input devices.
(i) What do you understand by M.1.S.?

(iii) Write any four differences between Manual and
Computerised Accounting System. 1+1+4=6

(i) {21 QT STYC UM & A4 forRay |

(i)  M.LS. T RT FHI 87

(iiy AR qAT HREAEHT SRIBA YUl H By AR (AR
forRau |

Following is the Receipts and Payments Account of Delhi health
Club for the year ended 31st December, 2016 :

Receipt and Payment Accounts

for the year ending on 31st December, 2016

Dr. Cr.
Receipt 3 Payment 3
To Balance b/d 98,000 By Furniture 21,000
To Donations for Building | 4,00,000 | By Vehicles 1,00,000
To Entrance fees 1,50,000| By Salaries 80,000
To Subscription 92,000 By Sundry Expenses| 5,000
To Locker Rent 10,000 By Building 4,00,000
To Interest on Investment | 10,000 By Investment 80,000
To Sale of Vehicles 78,000 (Purchased on
(Book value 90,000) April, 2016
@ 20%p.a.)
By Bal.c/d 1,52,000
8,38,000 8,38,000

Additional Information:
(i) Donations for Building include 20% general donations.

(i) During the year, the club had 600 members and each
paying an annual subscription 0f¥200.




(iii) Outstanding salaries as at January 1, 2016 were< 15,000
and as on December 31,2016 wereZ18,000.

Prepare Income and Expenditure Account of the club for the year
ended 31st December, 2016.

31 fawR, 2016 P faeell Beef dold BT U Ud YT @rdl e

fea T 5
gIftd vd YIrdE @rdl
31 fegwR, 2016 &I I 9

Dr. Cr.
Receipt 3 Payment 4
CINECANL 98,000 | WHER 21,000
9= @ forg & 4,00,000 | arg= 1,00,000
g9l Yeh 1,50,000 | I 80,000
SIEEE] 92,000 |31 @H 5,000
SIERELNEI 10,000 | 99+ 4,00,000
e w® | 10,000 | 391 ( 20%a1f¥®) | 80,000
qred df fdeht 78,000 | (1 a1, 2016 @1 @dR)
(q¥T e 90,000) SIENE N 1,52,000

8,38,000 8,38,000
arfaRea gaang —

(i) W9 B T Ut T 20% ATHIRI ST AHA 2 |

(iy I¥ B IR, FI9 D 600 TG I 3R UAD BT T 200 B
T MG QAT o7 |

(i) STIERY 1, 2016 DI TG dad T 15,000 TAT fEAHR 31, 2016

T 18,000 2T |

31 faIH R, 2016 BT AHIW B a1t a¥ & foTU Feld BT M-I

RCIRICRIELN



24.

Prepare Trading and Profit and Loss Account and Balance Sheet
from the following Trial Balance and information as on 31st

December, 2016:

Name of Account Dr.(X) Cr.(%)
Stock (1stJanuary, 2016) 16,000
Sales 7,00,000
Purchases 3,00,000
Wages 40,000
Rentand Rates 30,000
Salaries 46,000
Insurance 15,000
Machinery 72,000
Building 11,50,000
Capital less Drawing 6,00,000
Sundry Debtors 65,000
Sundry Creditors 32,000
Furniture 36,000
CashinHand 14,400
Bad Debts 5,000
Bank 12,000
General Expenses 5,000
Secured Loan 4,78,000
Carriage Inwards 3,600
Total 18,10,000 | 18,10,000




Adjustments:
) Closing Stock was valued at¥ 15,000.

ii) Depreciation on Machinery @ 10% p.a.

(
(
(i)  Make aprovision @ 5% for Doubtful Debts.
(iv)  Provide 2'2% discount on debtors.
(v) Prepaid insurance31,200.
(vi)  Outstanding salaries¥11,800.

Or

Give Journal entries for the following adjustments in final
accounts:

(h Outstanding wages< 3,000.

(i) Rent received during the year I 24,000 (include rent of
33,000 relates to next year).

iii)  LossbyfireX 40,000 (fully insured from AVL Ltd.).

(
(iv) 6,000 worth furniture taken by owner for personal use.
(v) Distributed goods¥ 12,000 as free sample.

(

vi)  Closing Stock as on 31st December, 2016 X 70,000
(Market valueX 65,000).

(vii)  Insurance premium amounted3 20,000 paid in advance.

(viii) Create 5% provisions for doubtful debts on Sundry
debtorsI40,000.



=1 Tortue dur gEeell 9 31 fQHwR, 2016 B ATUR T

ATI—gT( xgTaT vd Refy faavor R sifste—

Td &1 ATH sfae () | »fse ()
Ehe (1 SITeR], 2016) 16,000
IEER) 7,00,000
CER) 3,00,000
GG 40,000
=TT UG g% 30,000
CE] 46,000
T 15,000
ENIEE] 72,000
T 11,50,000
UGl (JTREVT e & 911) 6,00,000
TTGR 65,000
KRN 32,000
HATER 36,000
TR DS 14,400
$Id FT 5,000
EEY 12,000
A G 5,000
BNGRER 4,78,000
3D ATST 3,600
$Hl AT 18,10,000 | 18,10,000




FHTITST :

3ifCrH TheT T HeTeh X 15,000 Tehar 1T |
=R UR e BT 10% Ufcl 99 b1 &% A TSy |
5% P &R AT 0Tl & {oTT UTaer= HIfoTy |
2%% @1 G W GAGRI IR B QY |
3T 141 T 1,200.
31&d I+ 11,800.

arerar

gifers w@rat # =1 Fararst & fore o= ufaftedr sifsre —

(1)
(ii)

(iii)

e AT ¥3,000.

gy H 24,000 fpRrAT wre fhar R/ aH 33,000 3MTel 99
BE

3T ¥ JH4Ar 40,000 ST fb AVL faffics | gofaan
i 2|

I SUINT & T 36,000 DT HTeR o STTAT AT |
312,000 T AT Jd Huel & WU H fIaRe fbar |

Sifa Wy 31 fo@wN, 2016 &7 T 70,000 a7 FoT=A®wT
TSR e T 65,000 o7 |

T 20,000 BT §19T Wifas 1R foam 7T |

T 40,000 b THGRI TR 5% &I &% I Afee 7o & forv
UTae= fdba |




